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alphal3_4eX1X:cyclenum {run == 7284}
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deltad46_12X4eY:cyclenum {run == 7284}
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cyclenum

alpha4b_4ey4ay
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7285.5

7285

7284.5

7284

7283.5

7283

7282.5

7282

alpha46_4eY4aY:cyclenum {run == 7284}

8571 8571.5 8572 85725 8573

cyclenum

run:cyclenum {run == 7284}

8571 8571.5 8572 8572.5 8573
cyclenum

deltal3_lzx4ex
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05

deltal3_12X4eX:cyclenum {run == 7284}

8571 8571.5 8572 8572.5 8573
cyclenum

segment:cyclenum {run == 7284}

8571 8571.5 8572 8572.5 8573
cyclenum




USI_1A

usi_4ey
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usl_1X:cyclenum {run == 7284}
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8571 85715 8572 8572.5 8573
cyclenum

usl_4eY:cyclenum {run == 7284}

8571 8571.5 8572 85725 8573

cyclenum

usl_say

usl_12x
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usl_4aY:cyclenum {run == 7284}

8571 8571.5 8572 8572.5 8573
cyclenum

usl_12X:cyclenum {run == 7284}

8571 8571.5 8572 8572.5 8573

cyclenum

usl_sex

7286

7285.5

7285

7284.5

7284

7283.5

7283

7282.5

7282

usl_4eX:cyclenum {run == 7284}

[

8571 8571.5 8572 8572.5 8573
cyclenum

run:cyclenum {run == 7284}

8571 85715 8572 8572.5 8573

cyclenum



USI_L1A

usI_aey
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=

usr_1X:cyclenum {run == 7284}
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8571 85715 8572 8572.5 8573
cyclenum

usr_4eY:cyclenum {run == 7284}

8571 8571.5 8572 85725 8573

cyclenum

usr_say

usr_12x

[

0.5

[

0.5

usr_4aY:cyclenum {run == 7284}

8571 8571.5 8572 8572.5 8573
cyclenum

usr_12X:cyclenum {run == 7284}

8571 8571.5 8572 8572.5 8573

cyclenum

usr_aex

7286

7285.5

7285

7284.5

7284

7283.5

7283

7282.5

7282

usr_4eX:cyclenum {run == 7284}

[

8571 8571.5 8572 8572.5 8573
cyclenum

run:cyclenum {run == 7284}

8571 85715 8572 8572.5 8573

cyclenum



3434.8F

3434.6

3434.4 F
3434.2F
33434 F

3433.8fF

3433.6

3433.4

3433.2

33433 [
3432.8F

3432.6C

usl_coill:cyclenum {run == 7284}

-680.6 [
-680.8 F

-681F
-681.2

-681.4 F

-681.6
-681.8

—682

-682.2
-682.4F
-682.6

-682.8 F

8571 85715 8572 8572.5 8573
cyclenum

usl_coil6:cyclenum {run == 7284}

8571 8571.5 8572 85725 8573

cyclenum

usl_coil3:cyclenum {run == 7284}

3839.5

6839

3838.5

6838

3837.5

8571 8571.5 8572 8572.5 8573
cyclenum

usl_coil7:cyclenum {run == 7284}

4362.8

4362.6

1362.4

4362.2

14362

4361.8

4361.6

1361.4

4361.2

14361

4360.8F

4360.6

8571 8571.5 8572 8572.5 8573

cyclenum
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7285.5

7285

7284.5

7284

7283.5

7283

7282.5

7282

usl_coil4:cyclenum {run == 7284}
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6113.5

26114

6114.5

26115

6115.5

usr_coill:cyclenum {run == 7284}

-1026

1026.5

-1027

1027.5

-1028

8571 85715 8572 8572.5 8573
cyclenum

usr_coil6:cyclenum {run == 7284}

8571 8571.5 8572 8572.5 8573
cyclenum

-5611

5611.5

-5612

5612.5

-5613

3197.8

3197.6

3197.4

3197.2

18197 F

3196.8fF

3196.6

3196.4

3196.2

18196

3195.8

3195.6

usr_coil3:cyclenum {run == 7284}

8571 8571.5 8572 8572.5 8573
cyclenum

usr_coil7:cyclenum {run == 7284}
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cyclenum
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7285.5

7285

7284.5

7284

7283.5

7283

7282.5

7282

usr_coil4:cyclenum {run == 7284}

8571 8571.5 8572 8572.5 8573
cyclenum

run:cyclenum {run == 7284}

8571 8571.5 8572 8572.5 8573
cyclenum




-416.5

-417

-417.5

-418

-418.5

-480

-480.5

-481]

-481.5

-482

1X_coill:cyclenum {run == 7284}

8571 85715 8572 8572.5 8573
cyclenum

4eX_coill:cyclenum {run == 7284}

8571 8571.5 8572 8572.5 8573
cyclenum

-69.5

-70.5

-93.5

-94.5

1X_coil3:cyclenum {run == 7284}

8571 8571.5 8572 8572.5 8573
cyclenum

4eX_coil3:cyclenum {run == 7284}

8571 8571.5 8572 8572.5 8573
cyclenum
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29.2F
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28F
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1X_coil7:cyclenum {run == 7284}
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cyclenum

4eX_coil7:cyclenum {run == 7284}
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4aY_coild:cyclenum {run == 7284}
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cyclenum

4eY_coild:cyclenum {run == 7284}
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-22.6

-22.8

-23.2

-23.4

-23.6

-23.8

4aY_coil6:cyclenum {run == 7284}

8571 8571.5 8572 8572.5 8573
cyclenum

4eY_coil6:cyclenum {run == 7284}

8571 8571.5 8572 8572.5 8573

cyclenum
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4aY_coil7:cyclenum {run == 7284}

8571 8571.5 8572 8572.5 8573
cyclenum

4eY_coil7:cyclenum {run == 7284}

8571 8571.5 8572 8572.5 8573
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-262.2F

-262.4

-262.6 F
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-264.2
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12X_coill:cyclenum {run == 7284}

8571 85715 8572 8572.5 8573
cyclenum

12X_coil6:cyclenum {run == 7284}

8571 8571.5 8572 8572.5 8573
cyclenum
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-437
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12X_coil3:cyclenum {run == 7284}

8571 8571.5 8572 8572.5 8573
cyclenum

12X_coil7:cyclenum {run == 7284}

8571 8571.5 8572 8572.5 8573
cyclenum
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7283.5
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7282

12X_coil4:cyclenum {run == 7284}

8571 8571.5 8572 8572.5 8573
cyclenum

run:cyclenum {run == 7284}

8571 8571.5 8572 8572.5 8573
cyclenum
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